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Example A product that is sold seasonally yields a net profit of b dollars for each unit sold and
4b a net loss of ¢ dollars for each unit left unsold when the season ends. The number
of units of the product that are ordered at a specific department store during any

season is a random variable having probability mass function p(i),i = 0. If the store

must stock this product in advance, determine the number of units the store should
stock so as to maximize its expected profit.
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Example It is known that screws produced by a certain company will be defective with prob-
6b ability .01, independently of one another. The company sells the screws in packages
of 10 and offers a money-back guarantee that at most 1 of the 10 screws is defective.

What proportion of packages sold must the company replace?
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Example  The problem of the points

l Independent trials resulting in a success with probability p and a failure with proba-

bility 1 — p are performed. What is the probability that n successes occur before m

failures? If we think of A and B as playing a game such that A gains 1 point when a

success occurs and B gains 1 point when a failure occurs, then the desired probability

MJ(\A is the probability that A would win if the game were to be continued in a position
A_  where A needed n and B needed m moregpoints to win.
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